	MRGV	Name of contractor	M Satish	Sl. No. site	bills reg.	373	
Carry		Nature of work	PAINTING	Dt. site bills	reg.	24/09	24
3	BRGV	Work done from date	12-05-2024	M-codex bi	ll ID.	110	
Block no.	A	Work done to date	10-07-2024	WO issued	?	NO	
VO no.	NA	Contractor bill no.		GST bill red	quired?	NO	
VO date	NA VI i/G	Details of work	Qty	Units	Rate ID	Rate	Amount
Sl. No.	Unit/floor no	Main door poloshing - 1st coat.	15.00	NOS	PT150	2,000.00	30,000
1	117.118.119.218.317.318.418.518	Grills gap filling and painting	688.00	RFT	PT109	9.50	6,536
2			450.00		PT120	3.00	1,350
3		Balcony railing one coat painting	120.00				
4							
5							
6							
7							
8							
9							
10						Total	37,88
					Add GST @		
			To	tal amount i	including taxes		37,88
					including taxes	101 110110	
Remarks:	Note:- Bill made for Main door polis	sh out of 2,600 rupees 2,000. Remaining	RS-600 at time of final	coat.	by Director/Est	D team	
Approved by OS team Approved by Directorized team							
Sign:	on: Sign.						
	ate: Date: Dat				if-conjugatio		

Notes: 1. This sheet replaces installation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only it required its., details cannot be entered attacked of the partial of t

ESTIM	ATE SHEET				Approve	d by:		
	ny Name:	MRGV						
Project		BRGV					1 21	
	Description:	PAINTING					Chr	
Prepare		SARWAR						
Date:		02-08-2004					Item Head	
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Total	Remarks
	117.118.119.218.317.318.418.518	Main door poloshing - 1st coat.	15.00	NOS	2,000.00	30,000		
2	117.110.115.210.517.510.110.11	Grills gap filling and painting	688.00	RFT	9.50	6,536		
3		Balcony railing one coat painting	450.00	SFT	3.00	1,350		
4		Date only raining one cour printing					3.7,886	
5								
6								
7								
8								
9								
10								

MEASU	REMENT SHEET								
Company		MRGV		Approved by:					
	, rume.	BRGV		Sign:					12.05.2024
Project:	·	PAINTING		Work start date	:				12-05-2024
	escription:	M Satish		Work end date:					10-07-2024
Contract		Sarwar		Date :					07-08-2024
Prepared	1 By:	Saiwai	A	В	2	D	E=AxBxCxD	F	G=Sum of E
		V. D. vistion	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
S No.	Item Head	Item Description	1.00	1.00	1.00	15.00	15.00	NOS	15.00
1	117.118.119.218.317.318.418.518	Main door poloshing - 1st coat.	86.00		1.00	8.00	688.00	RFT	688.00
2		Grills gap filling and painting			3.00		450.00	SFT	450.00
3		Balcony railing one coat painting	10.00	1.00	3.00	13.00	150.00		
4									
5				120000000000000000000000000000000000000					
6									
7								-	
8									
9									

Allowance For Equipment M Satish MUHARPALLY Hyderabad

Date 02-08-2004

In favor of: MRGV

Project/Site: BRGV

Location: MUHARPALLY

Type of Work: PAINTING

Towards: Allowance For Equipment

C NIX	Discription	Amount
1	Breif discription of work done: Towards PAINTING WORK	
		15,154
	Total amount: 37,886	

Amount in Word: Fifteen thousands one hundred fifty four rupees only/-

- 1
-
- 1
- 1
- 1
١
ا ا
īg
S

Allowance For Consumables M Satish MUHARPALLY Hyderabad

Date 02-08-2004

In	favor	of	:
	1000	•	

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

PAINTING

Towards:

Allowance For Consumables

S.No.		Discription	Amount
1	Breif discription of work d	one: Towards PAINTING WORK	
			7,577
	Total amount:	37,886	

Amount in Word: Seven thousand five hundred seventy seven rupees only/-

Sign:				

Labour Charges M Satish MUHARPALLY Hyderabad

Date 02-08-2004

In favor of:	MRG\
Project/Site:	BRGV

Location:

MUHARPALLY

Type of Work: PAINTING

Towards: Labour Charges

S.Nō.		Discription	Amount
1	Breif discription of work do	one: Towards PAINTING WORK	
			15,154
	Total amount:	37,886	

Amount in Word: Fifteen thousands one hundred fifty four rupees only/-

Sign:	